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01 XA U SEF S| 10,000 0 10,000
OCIS|ZHOIX At 10,000,000 10,000
JA0ICIN PRER 47,800 14,400 33,400
201 Yur2 | 37,400 14,400 23,000
01 ALR 2l 37,400 14,400 23,000
Oz s=8 1,200,000 * 122 14,400
OPHEBAIY 2D MEY 2 252
6,000, 0002 33l 18,000
OMWindow SBS 20082 18 7l
2,500, 0002 *2JH 5,000
301 LB A 10,400 0 10,400
12 JIEH2 A3 10,400 0 10,400
ORF LMK (OILI2A) 200, 0002 #5235 10,400
JEY L= 2Y 61,328 0 61,328
101 01214 28,678 0 28,678
04 JI2H22TS S 28,678 0 28,678
ODI&FHIEEIHU’SJI%R%) 24
10,6372 +21.62 x2 & x6 2 28,678
201 Yur2 | 7,200 0 7,200
01 ALR 2l 7,200 0 7,200
OBCD 2 HICIQEI0IZ 21,2002 *1,0000H 1,200
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FA WFEEN
o2

Mu: g2l PHEY 2
ool OE0H 28 73 B2 (=EREE))
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2

OdlCi23t0 2t sl 500,000& *13] 500
OAELQ AT (GASE) 500,000& *13| 500
OYs=2 29 AR2EH 2¢ 3,000, 000& 3,000
OEYRIA I=4| 400,000 x1H x23| 800
ONEZANE 2 40,000& *30H 1,200

203 PR =2&b| 1,000 0 1,000

03 Al F=&H =&Y 1,000 0 1,000
OAHMF=AHRFAY| 1,000,000& 1,000

207 0K | 11,000 0 11,000

02 & AR EH| 11,000 0 11,000
O HIY VOOMHI A ¢l 11,000,000& 11,000

301 et a3 5,200 0 5,200

12 JEtE2 A2 5,200 0 5,200
Ox=gsS=Xx = 100,000& *123] 1,200
Oolgyets=s 33382 1,000,000& 1,000
oucs2 3,000,000& 3,000

405 KHAHFE S| 8,250 0 8,250

01 ML 2SS FH SHI 8,250 0 8,250
ODICIH=SHAIAE 2 8,250,000& 8,250

HEHESA QIZ &S 4,246,555 1,248,741 2,997,814
= 791,000
Al 77,000
- 3,378,555

HEHBE SO 29 4,246,555 1,248,741 2,997,814
2 791,000
Al 77,000
- 3,378,555

HEEHBSA 2 186,202 196,115 N9,913

201 LBt A 186,202 196, 115 A9,913

01 At 22|l 9,780 9,780 0

OdZIAS2(PE AL MG &)

1,000 *81501 =12 9,780

02 324l 176,422 186,335 A9,913
O&3e2 9,083,330& *12& 109,000
OFEJEANES 3,750,000& x12& 45,000
OREENEERS 750,000& x12& 9,000
OO Z2EHAII = 241,660& x12& 2,900
Osgszssay 250,000& x12& 3,000
OFAN RUYS 23 210, 160& x12& 2,522
O2F3 HE8Z ARS 22 2,500,000& *23] 5,000

SHEAEBSAAE &5 2 X3 1,016,220 63,620 952,600
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2A: NERESL
Y HHFEESA IetEE
thel: HYHESH 2Y (ctel: &
SN -ZH A (ZH) - MFAY - BES O AFH dd = Hos
(il & OH
201 LA 63,620 63,620 0
02 3324l 63,620 63,620 0
OFESHEH ®"ANE=H 63,620,000 x14] 63,620
401 Al HIZL 2 0HYI 952,600 0 952,600
01 Al &l 950,000 0 950,000
OIPT(QIHYUESIAIAR) 2= 950,000,000 950,000
03 Al& =01 2,600 0 2,600
OIPT(QUEH U ESIAIAE) 2= A& 20
2,600,000& 2,600
YHZCCTVEX ¥ 29 1,229,480 981,506 247,974
Al 77,000
- 1,152,480
201 L Et2FH| 662,732 664,360 A1,628
01 AR 2teld| 3,600 7,400 A 3,800
OgHECCTV 2H4HE 234Hl 300,000 «12& 3,600
02 E==2gHl 659, 132 656,960 2,172
OstsldAE= 17,050,000& x 123 204,600
OFSPIEer=, 600,000 122 7,200
OAl &8 & HI =Xl 447,332
o ZHHCCTV RAES Y 74,000,000& 74,000
o HHCCTV 2 & 84 373,332,000& 373,332
401 Al HIZ 20HYI 539,748 311,926 227,822
Al 77,000
- 462,748
01 Al & Hl 536,400 310,000 226,400
OggscCTv &X 280,000
o & ECCTV Jtollet 7,000,0002 *29CH 203,000
o HHECCTV StHleH(E=x)
7,000,000& = 11CH 77,000
Al 77,000
OJI& H-HECCTV SEIMEAS
5,000,000 *20JH £~ 100,000
OCCTVZ Al A H 24,000,000& * 14! 24,000
OCCTVZHl AE2lXl 72T 120,000, 000& 120,000
O2d92LIH ¥ PC 3,700,000& 24! 7,400
OgeE CCTV AlIZ& &bl 5,000,000& 5,000
03 Al € 2 CHH] 3,348 1,926 1,422
OYHECCTV Xl ARG
531,400, 000& *0.63% 3,348
405 K+ = H| 27,000 5,220 21,780
01 ARt =S HSHI 27,000 5,220 21,780
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2A IS0
HH HENNUEA QTHE
&l HBZIESN 29 (ctel: &
DA HB L CP(E) - HRAY - BAS 01l &+ o4 Soe s
O HECCTV RA24 HHIE 7Y
4,500, 000& *54! 22,500
OZtHME =280 7 4,500, 0002 =14 4,500
CCTVS S 2 MMEH =AY 1,814,653 0 1,814,653
2 791,000
- 1,023,653
401 A& HIS 2 CHYI 1,814,653 0 1,814,653
= 791,000
- 1,023,653
01 A& HI 1,808, 144 0 1,808, 144
OCCTV S&2HMLEH *= 1,808, 144,000& 1,808, 144
= 791,000
- 1,017,144
03 AI& 2 0HHI 6,509 0 6,509
OCCTV SE&MHE = AIZ2R0YI
6,509,000& 6,509
HH2ARY (RSS2 L) 187,430 152,264 35, 166
CIHRAH(NEELSD) 136,013 120,468 15,545
olEedy MEAY(RSE2 D) 136,013 120,468 15,545
101 @124 d| 136,013 120,468 15,545
02 JIEtXE = 108,487 96,874 11,613
OXNgHAAH AR " S 42,032
o=g 2,713,830« 1128 32,566
o= EXH| 140,000 «12& 1,680
o M ZAlH| 130,000& x12& 1,560
o A2t =S 5,874 «x3bA| 2t 12& 2,468
o At &yl 2,713,830 x1/30% 17 1,538
odIUA=S 2,220,000& =1 2,220
OXZAIZEH AR 2" 5 66,455
(o= 1,815,410& x2F +12& 43,570
otEE
20,000 *x30/40A1 2+ *3H »2H x 12 1,080
o AZEXHl 140,000 *30/40A 2tx2H «12& 2,520
o M ZAlH| 130,000 *5/52 x2H x 128 3,120
oAt =S 5,620 «35A[ 2tx2H x 123 4,721
o HItE &Yl
1,815,4103 »70%*1/226%102 Al 2t+2H 1,148
RS ESE= 60,513 x30 *1,035/365 x2H 10,296
03 RIHAZZ2UHE S 27,526 23,594 3,932
ORIAHAAZZXNE = 27,526
oJlEa 1,152,030 x12& 13,825
o&ti= 345,600 «12& 4,148
o Jt AKX &I 28,800& 123 346
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PN NEESD
FH: HHRIZH(LEESD)
cHel: ol 2y (D822 SR
FAH-FH-SASA) - NRAE - BE=Z AbOH &lEE St
e co=m s IR ° _I_ [= Bl e (] 04”:"% o
oNExE 20,0003 x2H 122 480
oAZHR =S 4, 7413 %1.5%30A1 2+ 123 2,561
o =4l 130,000& x12& 1,560
ouWE2 x| 120,000& <128 1,440
o FE S It 576,015& »23| 1,153
o M= Atd| 20,000& =22l 40
oXtRaExrY 4, 7413 +BAI 216 607
0R5g2RrH 4, 7413 «8Al 2tx1.5+243] 1,366
FH(RsEE M) 51,417 31,796 19,621
JI2ZHl NMRAS(DESED) 51,417 31,796 19,621
201 et A | 28,977 18,546 10,431
01 AR 2t eld| 28,977 18,546 10,431
ORM2E=8 54,5903 x5« 12& 16,377
O=&tl 7,000 25 64!+ 128 12,600
202 44| 18,240 8,640 9,600
01 =2 A bl 18,240 8,640 9,600
O2UsENYI 10,0003 19H 8L «12& 18,240
203 R =2 4,200 3,000 1,200
04 RN2IHR= 4,200 3,000 1,200
ORAN2ZYR 350,000& «12& 4,200
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